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1) Let (X, 3", 1) be a measure space and let [ : X — [0, 0o} be measurable. For
E €Y define v(E) = [, fdu Show that v is a measure (You will need s convergence

theorem for countable additivity)
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2) Let fu(2) = T i

3) Let (f,) be a sequence of integrable functions such that f, — f ae with f

integrable. Then prove that [|f. — f| = 0 [{fal = [{f]-

4) Let h and g be integrable functions on (X, 1) and (Y,v), and define
flz,y) = h(z)g{y) Then show that f is integrable on X x " and

/ fdip = u):f hd,u/ gdv
Xxy X ¥

Hint: Take h = X4, g = Xp where AC X, B CY are measurable sets.



